25 G10 CH 3 WS 1 Pair of linear Equations in two Variables

Pair of Linear Equations in two Variables : Worksheet -1

1. The value which makes an open sentence as true is

called

2. The X — Intercept of the line 2x—3y—-4=0is

3. The solution of the equation x- 2 = - 4 is

4. The equations ax + by + ¢ =0 and Kax + Kby + Kc = 0 are
equations.

5. The intersection point of the lines x + y =5 and x-y = 1 is

. The degree of linear equation is

. Equation of a line parallel to X-axis is

6
7. The solution set for Inconsistent equations is
8
9

. The vertical axis is called

10.The point of intersection of the above X and Y axes is

Grade - 10 : www.thirdapple.in 1
—




